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ECG report Data
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Data and Calculations

E’yﬁgj : 182 cm

*ﬁgg{ : 78 kg

A Supine - Resting © Regular Breathing (using Segment 1 data)
Table 5.3
Measurement CE;an:el 1 Cardla; Cycle 3 Mean | Range
AT CH2 0.867, 0.883] 0.982 0.911 0.115
BPM CH2 69.2 68.0 61.1| 66.75 8.11
Table 5.4
e Duration Amplitude (mV)
AT [CH2] /A\[CH2]
Component Cycle 1 Cycle 2 Cycle 3 Cycle 4|Cycle 1 Cycle 2 Cycle 3 Cycle 4
P Wave 0.099| 0.067| 0.045/ 0.070] 0.036| 0.038| 0.040| 0.038
PR interval 0.143| 0.108| 0.101] 0.117] 0.042| 0.038| 0.034| 0.029
PR segment | 0.045| 0.038| 0.041| 0.041] 0.005| 0.012] 0.018 0.012
QRS complex | 0.047| 0.053| 0.050| 0.050f 0.574| 0.578| 0.606| 0.586
QT interval 0.357| 0.347| 0.345| 0.350] 0.593| 0.578| 0.606| 0.592
ST segment | 0.049| 0.046| 0.042| 0.046] 0.022| 0.030[ 0.031| 0.028
T wave 0.225| 0.209| 0.219| 0.218] 0.108| 0.118| 0.098| 0.108
Table 5.5
Ventricular Readings CH2 AT
Cyclel Cycle2 Cycle3 Cycle4
QT interval 0.392 0.361 0.386 0.378
End of T wave to subsequent R wave 0.543 0.511 0.575 0.543




B. Seated - deep breathing

Table 5.6
Rhythm CH.# Cycle 1 Cycle 2 Cycle 3 Mean
Inspiration
AT CH2 0.759 0.703 0.743 0.735
BPM CH2 79.05 85.35 80.75 81.72
Expiration
AT CH2 0.806 0.722 0.919 0.816
BPM CH2 74.44 83.10 65.29 74.28
C. Sitting
Table 5.7
Rhythm CH.# Cycle 1 Cycle 2 Cycle 3 Mean
AT CH2 0.794 0.892 0.825 0.837
BPM CH2 75.57 67.27 72.73 46.66
D. After Exercise
Table 5.8
. . CH2 AT
Ventricular Readings
Cyclel Cycle2 Cycle3 Cycle4
QT interval 0.337, 0.319 0.308 0.321
End of T wave to subsequent R wave 0.273 0.269 0.290 0.277




Data Summary
E. Heart Rate (BPM)

Condition Mean Range
Supine > regular breathing 60.566 16.5
Seated - deep breathing - inhalation 84.037 13.0
Seated - deep breathing - exhalation 82.243 15.5
Sitting - regular breathing 76.871 14.4
After exercise — start of recording 84.843 28.6
After exercise — end of recording 69.558 10.6

Explain the changes in heart rate between conditions. Describe the
physiological mechanisms causing these changes.

EH ] FRAESS Mp  3E 2 éﬁfiaﬂa‘a P [NEL PRIV AR 0T 2R Bl Iy
B SATE o P ¢ Y IPIBEER » (ERLHATSE ST BV
B Bl MR (2 s -

F. Duration (AT)

Rhythm
Measurement Mean Range
Seated - regular breathing
Inhalation 2.124 0.400
Exhalation 2.214 0.440
Seated - deep breathing
Inhalation 2.320 0.200
Exhalation 2.360 0.390

Are there differences in the cardiac cycle with the respiratory cycle?
25 (P T Sl BRI 5 [ i %’ﬁﬁﬂ% L Sl ) S g
3 P~P75'E'J§ﬁ§f‘3f'¢rﬁ P~PTS'HU 7%= n

Measurement Mean Range
Supine - regular breathing
Ventricular systole 0.3797 0.031
Ventricular diastole 0.543 0.064

Seated » deep breathing



Ventricular systole 0.321 0.029

Ventricular diastole 0.277 0.021




What changes occurred in the duration of systole and diastole
between resting and postexercise?

YA lﬁwﬁu BRI Y B SR R 1 L) O PRV R
ﬁﬁﬂ?ﬂ%@ xﬁiﬁfﬁ‘?‘ o 15%*~ n

G. Review your Data
1. Is there always one P wave for every QRS complex?
Yes
2. Describe the P and T wave shapes:
gl s (hill)
4. Do the ST-segments mainly measure between —0.1 mV and 0.1
mV?
Yes
5. Is there baseline “drift” in the recording?
Yes
6. Is there baseline “noise” in the recording?
Yes



EEG report Data:
I. Data and Calculations

Name: [t §/) fﬂ'

Height:175
Gender:§}

Age:21
Weight:68:

A. EEG Amplitude Measurement:
Stddev : (uv)

Rhythm Channel | Eyes Closed Eyes Open Eyes re-closed
Alpha ch2 1.511 2.103 1.689
Beta ch3 1.714 2.088 1.525
Delta ch4 13.036 20.914 12.887
Theta ch5 1.932 3.205 2.073
B. EEG Frequency Measurements:
Freq: (Hz)
Rhythm Channel cyclel cycle2 cycle3 mean
Alpha ch2 10.000 7.143 8.333 8.492
Beta ch3 16.667 22.222 22.222 20.370
Delta ch4 2.500 2.740 1.333 2.191
Theta ch5 4762 5.882 6.061 5.568

I1. Questions
C. List and define two characteristics of regular- periodic waveforms.
1. Function that repeats its values after some definite period ( f(x + p) = f(x) ).
2. Values of periodic waveforms is predictable.

D. Compare and contrast synchrony and alpha block.
BB« Peak to peak: (uV)

Eyes Closed

Eyes Open

Eyes re-closed

Alpha

8.804

6.212 (" [#0.2949%)

11.763 (4] 0.894)

b

oo

Alphald s BRI € AR o (F IR » i AL SRy i o




E. Examine the alpha and beta waveforms for change between the
“eyes closed” stateand the “eyes open” state.
i. Does desynchronization of the alpha rhythm occur when the eyes are open?
A * alpha rhythm 7 PSS E F B 1% o
ii. Does the beta rhythm become more pronounced in the ‘“eyes open” state?

A beta thythm 7 S 2012 E O RHORES -

B Peak to peak: (uV)

Rhythm Eyes Closed Eyes Open Eyes re-closed
Alpha 8.804 6.212 11.763
Beta 11.937 9.273 10.817

S UJ,I,WJ' mﬂquarﬂMfﬂ[ P Mw MWI’ L R N U e Mk WMWIMM ”““‘WMIW

i e el

R PR R T R TS EEUR Oy -

al&ha

beta

F. The amplitude measurements (stddev) are indicative of how much
alpha activity isoccurring in the subject. But - the amplitude values
for beta do not truly reflect the amount of mental activity occurring
with the eyes open. Explain.
A:PIERbetal bR LS R T~ RS flIE FTJ F LR E | TR Eiﬁfj? ' iy
FET%% RIS S hjalphat® H] Jifﬁ BN fiLie> I Jlf‘ﬁl%t' '%‘ >k Ffl
FELT S PR B2 riE%ijF p S EA R R D



G. Examine the delta and theta rhythm. Is there an increase in delta

and theta activity when the eyes are open? Explain your observation.
By Peak to peak: (uV)

Rhythm Eyes Closed Eyes Open Eyes re-closed
Delta 58.517 28.789 106.446
Theta 13.117 12.990 14.179

delta

\l\“'-‘ ‘I"\_
VS —

s

/\/\/ o
%

theta

H. Define the following terms:
1. Alpha rhythm: freq: 8~13.

consciousness.

2. Beta rhythm: freq: 13~30.

It is characteristic of a relaxed »

anxious thinking and active concentration.
3. Delta rhythm: freq: 1~5. It is often associated with the very young and
certain encephalopathy and underlying lesions.
4. Theta rhythm: freq: 4~8. It is associated with drowsiness - childhood -

adolescence and young adulthood.

It is often associated with active » busy or

) Mﬂ ﬂj el fwM\fmﬂw.ﬂ.pmﬁur-Jﬂ fwj'ujl.,ﬁ.fwﬂ“f I j’WJ IJ\[ J\\JIIJIE fWﬂ AR ety f'»ﬁlw\rﬂ ﬂﬂﬂﬁm-m Werfpitne bl eifireffivoh Mﬂ ﬂjll[ 1A ngw ‘
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EMG report Data

CHH I £yl + 175 cm
Tt 21 PE - 68 kg

A. EMG Measurement

Cluster Forearm 1 (Dominant) Forearm 2

# Min Max P-P | Mean Min Max P-P | Mean

[3 min] [3 min]|[3 p-p]|[40min]| [3 min] | [3 min] |[3 p-p]|[40min]
-0.25818|0.23743|0.49561| 0.04806|-0.21057| 0.58922| 0.1947|0.04455
-0.32471/0.36133|0.68604| 0.07144/-0.31128| 0.60052(0.37231| 0.06856
-0.59326|0.53711{1.13037| 0.11524/|-0.57434| 0.34709|0.58899| 0.10605
-0.8136|1.21765|2.03125| 0.16198|-0.54382|0.512277(0.72083| 0.16610

A WIN|(F

B. Use the mean measurement from the table above to compute the
percentage increase in EMG activity

(0.16198-0.04806) / 0.04806 = 237%

D. Compare the mean measurement for the right and left maximum
clench EMG cluster. Are they the same or different?
Different
Which one suggests the greater clench strength?
Right
Explain
Tester is a right handed person

H. What does the term “"motor unit recruitment” mean?
Motor unit recruitment fql_—ﬁ A ] sr?{h?f { i (motor unit) ¥ 32 Z|[Ig7 s
BIAVETAY o — [IEHT i (motor units)RLE 1= [ motor neuron == (A [Ea &R
RERY > BT P TR T (motor units) AR BT F U A SRR AL
73 ﬁ'f& Yol o pl 1o PP ARESE R’ I |l fﬁj@[ﬁ‘l{ S E‘?ﬂ@[ﬁ‘ L] VAT
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